

Instructions: Work the problems below as directed. Show all work. Clearly mark your final answers. Use exact values unless the problem specifically directs you to round. Simplify as much as possible. Partial credit is possible, but solutions without work will not receive full credit.

1. Integrate.

$$a. \int \frac{4}{4x^2 + 4x + 65} dx = \int \frac{4}{4x^2 + 4x + 1 + 64} dx = \int \frac{4}{(2x+1)^2 + 8^2} dx =$$

$$\int \frac{2}{u^2 + 8^2} du = \frac{2}{8} \arctan \frac{u}{8} + C =$$

$$\boxed{\frac{1}{4} \arctan \left(\frac{2x+1}{8} \right) + C}$$

$u = 2x+1 \quad du = 2dx$
 $\frac{1}{2} du = dx$

$$b. \int \frac{\cosh \sqrt{x}}{\sqrt{x}} dx \quad u = \sqrt{x} = x^{1/2} \quad du = \frac{1}{2} x^{-1/2} dx \quad 2du = \frac{1}{\sqrt{x}} dx$$

$$\int \cosh u \cdot 2 du = 2 \sinh u + C = \boxed{2 \sinh \sqrt{x} + C}$$

2. Use the definitions of the hyperbolic trig functions to prove the identity.

$$\cosh(x-y) = \cosh x \cosh y - \sinh x \sinh y$$

$$\frac{e^{x-y} + e^{y-x}}{2} = \frac{1}{2} [e^x e^{-y} + e^y e^{-x}] = ?$$

$$\frac{1}{2} [(e^x + e^{-x}) \cdot \frac{1}{2} (e^{-y} + e^y)] - \frac{1}{2} [(e^x - e^{-x}) \cdot \frac{1}{2} (e^y - e^{-y})] =$$

$$\frac{1}{4} [e^{x+y} + e^{x-y} + e^{y-x} + e^{-y-y}] - \frac{1}{4} [e^{x+y} - e^{x-y} - e^{y-x} + e^{-y-y}] =$$

$$\frac{1}{4} [2e^{x-y} + 2e^{y-x}] = \frac{1}{2} [e^{x-y} + e^{y-x}] = \frac{e^{x-y} + e^{y-x}}{2} \quad \checkmark$$

3. Integrate $\int \frac{x^3 - 3x^2 + 4x - 9}{x^2 + 3} dx$

$$\int x - 3 + \frac{x}{x^2 + 3} dx =$$

$$\frac{1}{2} x^2 - 3x + \frac{1}{2} \ln |x^2 + 3| + C$$

$$\begin{array}{r} x-3 \\ \hline x^2+3 \overline{) x^3 - 3x^2 + 4x - 9} \\ \underline{-x^3} - 9 \\ + 3x - 9 \\ \hline -3x^2 + x - 9 \\ + 3x^2 + 9 \\ \hline 0 \end{array}$$